2y
sl zlzzlzz| OEMELLO g 2
m| ©|20|206|_ & = g £ = @ ¢
K o 2. =
Q Z z |z P & g 23 — (N
o MIgMAMTD 58 2 T % N
o "= »n|lo e 2 3 1l (@) 22
o mli= o|= = o= S N
= Aoz - 8 2 4 a3 < -
z|N 2|2 S g g s -
clo m L g & 3
o 3 N (N
T O S o 3
z o = D) >
56220 ~
4,47
—4,30 184,12
~4,22 1184 10 184,23 A
4,00 B4 184,25 iJ
0 12233 18421 104 31
=312 45" 183920
-3,00 |184,12]
2,33
—1,14  |184,30)
0,00 |184,30]183,98|184,37
3,00 ]:;32 184,51
3'15 ] 183,98: 1844
' ~71184,43
397 |m4,30|BH24
184,19
0,42 183,93 |184.38
228 ] 183,93 18438
0 - 184,28 18435
: 1 184,25|1843
6.41  |184,25) 184,26
6.87

6,54

'd'd

Q0‘6/L =
ZW00°0 = babloupadAp |:|

zwig'0 = oobzbip [
w60 = oupaog [

Twze'l = dASWN ||

dOMAM [ ]

w600

(@] |0 AO0| 0V O
lw) N[0 N[O N
— M| O MO M
m O |« O|< O
@ Z | Z|Mm =
r~ m|Zm|Nm
(@] — > o 5‘
gl ooz
- A |M o >
2189 |z
Claoas|m
T
z
=L RS 0AE3 S
719 TR
5,44 183,46
3,00 183,18 | 123 49
A 183,107
-0,46 183,50
0,00 |183,50]183,16 | 183,55
3,00 ]Z?]S 183,49
3,15 ] 183’16' 183,61
, 183’42 183,61
404 |18320]
5,31 183,38
5,42 | | 18312 183,57
550 1 183,124 18357
6,00 | 183,47/ 183,54
6,30 T 183,44/ 183,52
183,49

00L:L/00L 3IPAS

09°0¢¢ "Md



